Grade 10 Workbook
/ Factorisation
Highest Common Cubes
Factor
Difference of Trinomials Grouping
Two Squares
Taking out a common factor
1. 6a3 — 8a? 2. 2xy% + x
= Aa (37 ¢) :x(&jtﬂ)
3. 2x(x = 5) = 3(x = 5) 4. 2x(x = 5) = 3(56 — x)
= (A-5)(x-3) = An(x-5)+3(x-5)
= (t-5)(2n+3)
Difference of squares
1. x2 -4 2. 25p? — 644>
SO-1 ) (t2) :c5f>—51)(5p+g'z)
3. 16x8 — 1 4, (x +y)2—-16
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5. Lxb -1y 6.  2-50(x+1)?
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| 3 T
= <5 = a(1-25(x)")
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:JL;“X -y \ | = 20+ 5 (xr) Y= 5(t) )
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Trinomial Factorisation

1. x% + 3x + 2 2. y2 -2y -8
= (C+ Iyx +2) (Y - gyt
3. 2x + 15 — x2 4, x2 — 8xy + 15y2
-~ (¢ 1x-1) =0t =5y XX =3y )

= — (R =-5) 4 3)

5. 2y2 -5y +3 6. 6x2 —23x — 18

- (;uj-s)(\j—l) = (-9 Y37t 2)

7. (x+1)2+2(x+1)+1

= [(XH) + | 1“11"1) + 1]
= (L +2) (x+2)

Grouping
1. 5x + by —ty — tx 2. 4x3 — 3x2 — 16x + 12
- (5K+535- (hj +tu) = (LHLS—B)LL)—(IA)L-IL)
= S0M) —Hyem) = L (4n-3) -4 ()
:(14’3\(5'{:) _ LH,)L-?))(IL-'LF)

= (4x-3) DD (D)
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3. a—-b+ab-1 4. x2 —4y2 +x — 2y
= (a-1)~(b -ab) = () +-1y)
= (a1 =% (i-a) ) _ j
Z(a-1) +b (1) = (xtapOcy) ()
= (@-1)(1+b) = (=) Lty +1)
5. xMp-q@-2xp-q@) —q+p
- )(_7’(}9'1) *ZK(P-l?,) + (P’?’)
= (f-12) (il‘llt_ﬂ)
=(1-1) =D (e =1)
Cubes
1. y3 -8 2. ylz —1 .
T /3
= Y-y ) S YETED

3. 16x6 + 54y3
s (s ay’)

= Mafw)&hx‘* -éftj*ﬁf)

Mixed examples

Hints: Always look for a common factor first. Make sure that the expression is factorised fully.

1. 10a?0 — 40 2. ad -1

= (" -y) = "= )’ e
@+ 2)a — 2) = (@ =)yt )

= (a—| )(C(-f—( )(a?‘ff( )(Q,"'f’.f_l )

4. By
9)’

3. x2 + 3x - 10

= (L=a2)xXx +35) :(%*‘y)(%‘j)
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6. Tx—4+x2—-2x—2

3y2 4+ 12y — 63
= 5(31%3—?4) S AT +5a-b
:3(u)f3)(j+7) =W +boxxe—-1)
8. 2x(a + x) — 2y(a + x) — 2a — 2x

7. (a-2b)3 - 4(a - 2b)

= (a-2b) [(a-2b)" - §]
(a-1b) [-1h)— 2] [(a-1b) + 7]
(a-th) (a-Lb 1) (a-1b +2)

= Ax(atw) —;L.j (aﬂc) ~2(0+2n)
= At ey =)

—
=

1

9. 4x2 + 20x + 25
= (e + 5 e + 5)

Use factorisation to calculate 282 — 82 . Do not use a calculator and show all steps

10.
2 (AT =8 ) AY — §)
:(36)(&0 )

= 730

If 2x — 1) is a factor of 8x2 + kx — 3, determine the value of k
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(Z{L~1)(41?3) = S+ =3
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o
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sz~|)(q,)t1"3)
= g Hon -4 x -5
=& Fa-3



